May 2008 ARSI ET

cR3
b e (o) —
. B 5 X
Lb) o= & ey :%) <~ T =
< = —i/j— Qvip{ Cé‘ +<><_)7’:— +‘§_ﬁtl+’§‘\(’63§
2. = 50K a = -Gk
xl.
3 W= z-% Lo
i) z S=<
4‘, —~ _{/Zv—u - Sy 2 .-\""‘u =
T Ee=s Cam)(H25 + 5225, %
6 .2924 ,0.52028 Q. FTLT2 i OS5
5. 0.2.574 o Flét, o0 T, 5. 28574
()T
F = e ¢ s &. 2458 ) 0, 429¢

MARAY »racod Pk 0wk L
WN—-‘

- (e )(T-t) + &CC&'J:’S-C —cen ;T)
i FaEiaF =0 ,G < V=S

-S &
A=l — 25¢ {b‘f“)C*"‘“t)'-" &(Qa;t-—coé l)
L, (e (CE-T) + alersT-cast)
.2\-—— L
2. . - — ="
i 4z
2. U=zee U= G
S Jlb ALy n L ~
‘4‘“ Co)éz\_);c’éf-ac)) b) (OJVL’;)"%_’ O)
,r\ou o=l
2 (\-28) 37 o
e (=)™
B, )



